',//}:lgebra 2 Name: M‘{/‘D 2 \/\afm,@ééé_

First Semester Final Review

Chapter 1: Equations and Inequalities

Evaluate the power.

129 = __([(03:@ 2 (-2)“:@

Use the order of operation to evaluate each expression.

Rl S0z aiia)tiD A g Ng
GRec i a 542(2)2
Z el el ] S
Evaluate the expression for the given value of x.
5. x*+2x—4 whenx=-3 6. 3x+5-3(x—2)whenx=2
Z : i :
(2 2(2)+4 2(2)4 S -2(2-2)
sy o] (e -=(0)
Simplify the expression. (<0 = l L {
7. -2(x + 1)+ 4x 8. 12 +-2¢+3x+2y +-7x

e o T
2y Ll

Solve each expression for the variable.

9, 2x+5=19 10. 4(x—2) =-32
N 4y-% =-32
‘ Lt e
[X=T7] 4y =24 L
11.6(x—6) =-2x—4 12.-6x+2=3x-7
OX-ZHp = -2%-Y g F
Z U A=Ay
A IX;—“"] @
13. %y +8 =20 14.x-6=6
‘ = ; =
2. Ly=iz7 =12

\9=24]
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Solve the formula for the given variable.

16.1=Prt solve fort.

15.P=2L+2W solve for W. G

i E Gt v A
(__P_:D_L' 2__[*_'} 'UU'-'— P"’Ql’ t: -P-—F
z 2z = \ S Bl

nd do aerobics during each visit.

i i 1 hour. You lift weights a ;
17. Each day you exercise at a fitness center for - WEight_“ﬁ:ing ket

Today you spent 25 minutes doing aerobics. If you spent 7 minutes at eac

machines did you use? % > /) X “f% %:7§(
(D = TX 15 @wm chuaes)

Solve each equation fory.

18.-x+2y=6 19.-%y +3x=6

2u = X+ o «_—_;1%; (,BX_*(D)_-Z

Jy= Sx+3 ’IW

Find the value of y for the given value of x.

20. 2x -2y =-16 whenx =4 21.2x + 5y =18 whenx =9

2Ueys20= 10 | ;2'(;3+5t; :‘\% 00
B -29y=-l ->|”2,‘ F SR U= {
G L ijfj;o ’

Solve the inequality and graph on a number line.

22.2x+3<1or3x-2>7 23.4x+3<-50rx+6>8

S AT pe3 Xz
X X >3 e

O+ +53 bty ] D
D] a3 e T s

24 -3 +3 <7, 25.2x+1>-1

{peoxed S Z e

— 22 XD =
<EH—t—t+t+PB> < B
22 2 O e as o=l Ol
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7 e ot s ol et \-\-‘Uﬂllun.

A e~ _ 27. |x—9] =11
i L X-q = X-A-= -\
MA | X = D |zwal><--,;}
28. |2x-6| =4 29. [2x+1| +3=6
DRC LA e (ST |2X4(\= 2
BN =10 ) 2yl 2 0 NG e R
X75) at [x] S G

._E_;_l ond_ | Vaie )

Solve the absolute value inequality and graph on a number line.

30. |x+3] <1 31. |2x| +6>8
a2l == | e Alioz=d o)
X Xz ;zx >; R XK ; ’;;_
> <“W 55'1
= 4 B D O e S|l e

Chapter 2: Linear Equations and Functions

Is the relation is a function.

1 1o, St vedticell Ll 2 105, QUSS(S ekical W2

TT 174656 4S5t
Evaluate the function for the given value of x.
3. f(x)=7x+3 whenx=-5 73(;?5%?@ 4. f(x)=25-2x> whenx=6
5. f(x)=x*+x+1 whenx=-1 AS— ;“(Uv
Y 32 _f;g“b g
V=14 ={1] D
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Find the slope of the line.

Find the slope of the line passing through the given points. Tell which line is steeper.

8. Line1(2,3)and (8, 15) 9. Line 2 (5,-1)and (-10, 2)
e e L el 2alel
e p s T i Hor = L

=z

Decide whether the line with the given slope rises, falls, is horizontal, or is vertical.

10. Which line is steeper? QjYLQ ‘

11. m =-5/7 12.m=2/3 13.m=0 14. m i;g%ﬁ CQ_,Q

fall=s Y isesS ho 2ol

Graph the equation.

15.y=3x+1 ';fﬁ :J,l 16. 2x+3y=1 [T
- Sy=-2¥+|
] 1 200 as
Y= SxrzH
] :__.%_
/
| ]
¥
17.y =-%x-1 18.5x—-2y =10 1 T o 5 5 lz_f;f
1 : i 7 & ! %!
’23' -5XHO T
. i
C Y= 2x-5 , o
% ] L1
N - NEEREES!
N ! T_i_,:
o E |
i C

Scanned with CamScanner



' B i ; _
write an equation of the line that has the given slope and y-intercept.

19 m=5andb=4 200m=0andb=2

Y=5x+d U=

Write an equation of the line that passes through the given point and has the given slope.

201 4) and m=-2 22.(-2,-5)and m=3
N 5=2(3)tb
i F oL 0

5
R ) S R el

Write an equation of the line that passes through the given points

23.(2,-1) and (1, -6)\ 24.(1, 1) and (5, 9)
A= '(0’(,‘\ _""__Eé.f = 6_?_:_ 3 % —
Fhny = i BRI T ==
“=oth  {y=sx-| st |
i el | thihe e

Write an equation that is perpendicular to the given line at the given point.

25. Perpendicular to: y = 3x + 2 at the point (3, 5)
) g
Mo o |
=D
v =(p

Write an equation of the line that is parallel to the given line at the given point.

26. Parallel to: y =-2x—5 at the point (-1, 9)

A 2 S ) e

A = DYoo \6: ’D-X“\’T
o [:::::::l
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Graph each equation.

27.y=-7Ix] el cvBlo S

T | PEEERCEEN

Chapter 3: Systems of Equations and Inequalities

Solve the systems using either substitution or linear combination.

1. 9x—5y=-30 2. Z(2x+3y=-7)
wq(x+2y=12> -4x =5y =13
- ¥ ~(¥y= 103 hHay =14
q)f( q = 3D z/J”( Sy s
P Q L
¥t )9 rf ol
)= Y= oL A
L2212 Syl
34(3 3y=0) i
: -2x+gy_=-24 X,/';'
~loX-y=0O

% 3(2)t34 0

— i _(,aj
2] -4
o, T
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bive the system.
4. X+2y—z=3 72,
5. -Z(x—2y+3z =-9)

3(-x+y+3z— 5\ il
3x+y+2z g 3 6y 9z =12
X=0y 10z —

Dwez: >2(L ,Q, 4’5 (D222 (Hwz: —ox+dy-(z =13

%,;:,; e = iy
< (35*3&——;@ o dy-5¢ =23
D%, 2443 1Az 1S ‘;WO | (B)zvz:

(j @)=z «%Tém 4757
TRt Gy +o) ()3 %-jfzj_,i
3(Uytliz=-\) |

X0t =3 07

2) —12)-%2 =3 X2 _ -
\'2y 1227 =32 , w

P s N | CQIOFD b S S T R P

6. Solve the following system of equations by graphing

4x42y=5 =, ;?‘:j., L\'X“\'E’D

g8x+4y 10 : : ’;X“(S/z
- _gxHo /
L‘g_ ~2X¥S/2 e
W% L:dwhoﬂq

7. Graph the systems of inequalities

y>-x=2 JoteA (M5

y< —=5x+2 SW(O
o

R T
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Chapter 4: Quadratic Functions and Factoring

ommon factor.
Factor the following quadratics completely. Don’t forget about the greatest

3 _((Zf_l;j(wz) Cdopend)  BEDGH)
;;J( XZroxto)
2( Kﬂ'ZD (xf%)

4. 5x2— 125

R

3. x2+8x+16

Solve the quadratic equation by Factoring

5 x%-8x+7=0 6. 3x2+5x=-2

(x_-ﬂ(x—D = 3x§+5x = > ><+Z’D K4 (=
X"_?’-D X"\ :D X “'5)("(‘(9 O

E{ Ten] (K*)C’“%}O @

(23 ) C\<+3 O

Solve the quadratic equations by the square root method.

7. xX*—6=44 8. (x—5)2=-100

a6 X-5 = 10

@ ‘\x: 6110?

Find the discriminant of the quadratic equation, give the number and type of soluti of the equatjon. Then
solve using the quadratic formula @ A g
i
9. -x2 :

X>=6x—2 10.4x?+7x+5=0
O=¥=+lox- 2 o1 0
0= b=l 052 X= TE aradis
X= 0 X J ()~ 4( DD 2(4) e
2019 S g D
G S -\ 3 Scluetipas
X=-LE 4yl > 2
el =
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